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The equation 4 4—-‘6 b 43 5
x>+ 2x = 110

has a solution between 4 and 5. Use a trial and improve-
ment method to find this solution.

Give your answer correct to 1 decimal place. You must
show all your working

2L ) o>+ 2x = 110

45 |45+ 2xL5 =
(00125 ...

kA4 dxlF -
[13.223....

L 6+ Dxlpb -
16693 ...

050 2k 165 -
10841625

o= L4

Comment
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406 small

(4)

Now have a go yourself . ..

Q1. The equation x> + 3x = 41 has a solution between 3 and
4. Use a trial and improvement method to find this solution.
Give your answer correct to one decimal place. You must
show all your working.

Q2. Use trial and improvement to solve this problem.
X*-2x=7
Give your answer to 1 decimal place. Show all your trials

and their outcomes.

Q3. The equation 2x%2 + x = 7 has a solution between x = 1
and x = 2. Use trial and improvement to find this solution
correct to 1 decimal place.
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Exam Questions

Q1. Show that the equation x> + 3x - 7 = 0 has a solution
between x = 1 and x = 2.

Using trial and improvement, find this solution correct to 1
decimal place. Show all your trials and their outcomes.

Q2. The equation x> - 6x = 72 has a solution between 4 and
5. Use a trial and improvement method to find this solution.

Give your answer correct to one decimal place.

You must show all your working.

Q3. The equation
x>—3x = 15

has a solution between 2 and 3. Use a trial and improvement
method to find this solution.

Give your answer correct to 1 decimal place. You must show
all your working
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